

Gen. Math. Notes, Vol. 29, No. 2, August 2015, pp.55-66 ISSN 2219-7184; Copyright ©ICSRS Publication, 2015 www.i-csrs.org Available free online at http://www.geman.in

# On Some Qualitative Properties of a

## **Non-Autonomous Lienard Equation**

Julio C. Acosta<sup>1</sup>, Luciano M. Lugo Motta Bittencurt<sup>2</sup>, Juan E. Nápoles Valdes<sup>3</sup> and Samuel I. Noya<sup>4</sup>

<sup>1,2,3,4</sup>Universidad Nacional del Nordeste, Departamento de Matemtica Ave. Libertad 5450,Corrientes 3400, Argentina
<sup>1</sup>E-mail: julioaforever@hotmail.com
<sup>2</sup>E-mail: lmlmb@yahoo.com.ar
<sup>4</sup>E-mail: noyasamuel@hotmail.com
<sup>3</sup>Universidad Tecnológica Nacional, FRRE, French 414 Resistencia 3500, Argentina
E-mail: jnapoles@exa.unne.edu.ar; jnapoles@frre.utn.edu.ar

(Received: 12-6-15 / Accepted: 29-7-15)

#### Abstract

In this paper we consider the problem about the conditions on f(x), a(t) and g(x) to ensure that all solutions of (1) are bounded or oscillatory using a non usual Lyapunov Function and two equivalent systems.

**Keywords:** Boundedness, oscillation, asymptotic behavior, Liénard equation.

# 1 Introduction

We consider the equation:

$$x'' + f(x)x' + a(t)g(x) = 0,$$
(1)

where a, f and g are continuous functions satisfying the following condition:

a) 
$$xg(x) > 0$$
 for  $x \neq 0$ ,  
b)  $\frac{\pm \infty}{0} g(s) ds = +\infty$ ,

c) 
$$a \in C^1([0, +\infty))$$
, satisfying  $0 < a \le a(t) \le A < +\infty$  for  $t \in [0, +\infty)$ .

Various questions on the stability, oscillation and periodicity of solutions of (1) have received a considerable amount of attention in the last years (one can consult the references for a more complete picture) under condition f(x)>0 for all  $x \in \mathbb{R}$ . In this paper we study the asymptotic behaviour of solutions of (1) without making use of this condition and using a new method in which the usual Lyapunov function is not used (cf. [2-4]).

To apply Lyapunov's direct method to the equation (1), we usually define a Lyapunov function V(t, x, y) by:

$$V(t, x, y) = b(t)W(t, x, y),$$
(2)

where:

$$W(t, x, y) = G(x) + \frac{y^2}{2[a(t)]}$$
(3)

 $G(x) = \int_0^x g(t)dt$  and  $b(t) = exp\left(-\int_0^t \frac{a'(s)}{a(s)}ds\right)$  with  $a'(t)_- = max(-a'(t), 0)$ . Let  $V'_{(1)}(t, x, y)$  be the total derivative along the solutions of (1). If  $V'_{(1)}(t, x, y)$  is non-positive in a suitable neighbourhood of the (0, 0), then the stability of the zero solution of (1) follows. For the non-positivity of  $V'_{(1)}(t, x, y)$  we need that F(x) satisfies:

$$F(-x) \le 0 \le F(x)$$
 somewhere in  $x \ge 0$ , (4)

since  $V'_{(1)}(t, x, y) = -\frac{b(t)}{a(t)} \left[ a'(t)^{-}G(x) + \frac{y^{2}a'(t)^{+}}{2a^{2}(t)} + a(t)g(x)F(x) \right]$ . In other point of view, the non-positivity of  $V'_{(1)}(t, x, y)$  implies that every solutions of (1) departing from a bounded region by a closed curve, remains in this region as t increases. This fact plays an essential role in our work where the assumptions (4) is not used. So, we need alternative assumptions on F(x) and g(x) under which the last remark is still valid.

The equation (1) is equivalent to the system:

$$x' = y,$$

$$y' = f(x)y - a(t)g(x).$$
(5)

The regularity of functions involved in this system ensures existence and uniqueness of solutions of (5). The condition a) shows that (0,0) is the only point of equilibrium for system (5) and the condition b) ensures that results

obtained are in global sense. From [10], obtain that condition c) is consistent with common sense.

### 2 Problem Formulations

Let  $\alpha$  be a given real. We indicate by  $\Omega_{\alpha}$  the following open set:  $\Omega_{\alpha} \equiv \mathbb{R}^2$  if  $\alpha \equiv 0$ ;  $\Omega_{\alpha} = \{(x, y) : y > -\alpha^{-1}\}$  if  $\alpha > 0$ ;  $\Omega_{\alpha} = \{(x, y) : y < -\alpha^{-1}\}$  if  $\alpha < 0$ .

And let  $F_g(\mathbb{R}) = \{ f \in C(\mathbb{R}) : for \ x \ge 0, f(x) - \alpha Ag(x) > 0 \text{ and for } x \le 0, f(x) - \alpha Ag(x) < 0 \}.$ 

Consider the following function  $V_{\alpha}$  given by:

$$V_{\alpha}(t,x,y) = \frac{1}{a(t)} W_{\alpha}(y) + G(x), \ (x,y) \in \Omega_{\alpha}.$$
 (6)

with G(x) as above and  $W_{\alpha}(y) = {}^{y}_{0} \frac{sds}{\alpha s+1}$ . Now we present some auxiliary results.

**Lemma 2.1.** Under assumptions a)-c) and  $f \in F_g$ ,  $V_{\alpha}(t, x, y)$  is a definite positive function.

**Proof:** Consider the following case.

Case  $\alpha \equiv 0$ In this case we have that  $V_{\alpha}(t, x, y)$  becomes in

$$V_0(t, x, y) = \frac{y^2}{2a(t)} + G(x)$$

From this we have  $V_0(t, 0, 0) \equiv 0$  and  $V_0(t, x, y) > 0$  for all  $(x, y) \neq (0, 0)$ . Case  $\alpha > 0$ 

It is clear that  $V_{\alpha}(t, 0, 0) \equiv 0$  and

$${}_{0}^{+\infty}\frac{sds}{\alpha s+1} = +\infty = {}_{0}^{-\frac{1}{\alpha}}\frac{sds}{\alpha s+1}.$$
(7)

From this and definition of function G(x) we have that  $V_{\alpha}(t, x, y) > 0$  for all  $(x, y) \neq (0, 0)$ .

Case  $\alpha < 0$ 

This case can be analysed in a similar way. End of proof.

**Lemma 2.2.** The solutions of system (5), and equation (1), do not admit vertical asymptotes.

**Proof:** It is enough, to this end, to show that all solutions of the equation

$$\frac{dy}{dx} = -f(x) - \frac{a(t)g(x)}{y}, y \neq 0$$
(8)

do not admit vertical asymptotes.

Let us assume that (8) has a solution

$$y = y(x), \ a \le x < b$$

such that

$$\lim_{x \to b^-} y(x) = +\infty.$$
(9)

We can assume with no loss of generality, that  $0 < y(a) \leq y(x)$  for  $a \leq x < b$ . Let

$$F \ge \max_{a \le x < b} |f(x)|, \ G \ge \max_{a \le x < b} |g(x)|.$$

It follows from the mean value theorem that, for a < x < b,

$$y(x) - y(a) \le \left[F + \frac{AG}{y(a)}\right](b-a)$$

which contradicts to (9). The other situations can be analysed in a similar way. This completes the proof.

**Remark 2.3.** This is equivalent to proved the continuation of the solutions of system (5) and therefore, of equation (1).

It can be immediately verified that the derivative of V relative to system (5) verified:

$$V'_{\alpha}(t,x,y) \le -\frac{a'(t)_{+}}{a^{2}(t)}W_{\alpha}(y) - \frac{1}{a(t)}\frac{(f(x) - \alpha a(t)g(x))}{[\alpha(y - F(x)) + 1]}y^{2}$$
(10)

Because  $\frac{a'(t)}{a^2(t)}W_{\alpha}(x,y)$ ,  $\alpha(y-F(x))+1$  and  $\frac{y^2}{a(t)}$  they are positive for all  $(x,y) \in \Omega_{\alpha}$ , it follows that the non positivity of  $V'_{\alpha}(t,x,y)$  depends only of  $(f(x) - \alpha a(t)g(x))$ .

From (6) we can define the function:

$$\overline{V_{\alpha}}(x,y) = \frac{1}{a}W_{\alpha}(y) + G(x), (x,y) \in \Omega_{\alpha}.$$

**Lemma 2.4.** Assume there are  $\alpha > 0$  and b > 0 such that for all  $x \ge b$ ,  $f(x) \ge \alpha Ag(x)$ . Let  $y_0 > 0$ ,  $L = \overline{V_{\alpha}}(b, y_0)$  and

$$M = \left\{ (x, y) \in \Omega_{\alpha} : x \ge b, \ \overline{V_{\alpha}}(x, y) \le L \right\}$$

Let  $\gamma(t) = (x(t), y(t))$  be the solution of (5) so that  $\gamma(t_0) = (b, y_1)$ , with  $0 < y_1 < y_0$ . Then, there is  $t_1 > t_0$  such that

$$\gamma(t) \in M, \ t_0 \le t \le t_1$$

and  $\gamma(t_1) = (b, y_2)$ , with  $-\frac{1}{\alpha} < y_2 < 0$ .

**Proof:** From  $x'(t_0) = y_1 > 0$ , it follows there is  $t_2 > t_0$  so that  $\gamma(t) \in M$ ,  $t_0 \leq t \leq t_2$ . On the other hand, being x'(t) > 0 on the half plane y > 0, x'(t) < 0 on the half plane y < 0, y'(t) < 0 on the positive half-axis x and (0,0) the only point of equilibrium, there must exist  $t_3 > t_2$  such that  $\gamma(t_3) \notin M$ .

Let  $t1 = \{\tau > t_0 : \gamma(t) \in M, t_0 \leq t \leq \tau\}$ . From the hypothesis  $f(x) \geq \alpha Ag(x)$ ,  $x \geq b$ , and from (11) it follows that  $\overline{V_{\alpha}}'(x, y) \leq 0, t_0 \leq t \leq t_1$ . Since  $\overline{V_{\alpha}}(\gamma(t)) = \overline{V_{\alpha}}(b, y_1) < L$ .

Because x'(t) > 0 on the y > 0 half-plane, it follows that  $\gamma(t_1) = (b, y_2)$ , with  $-\frac{1}{\alpha} < y_2 < 0$ .

In a similar way, we can demonstrate the following lemmas:

**Lemma 2.5.** Assume there are  $\alpha < 0$  and c < 0 such that for all  $x \leq c$ ,  $f(x) \geq \alpha Ag(x)$ . Let  $y_0 < 0$ ,  $L = \overline{V_{\alpha}}(c, y_0)$  and

$$M = \left\{ (x, y) \in \Omega_{\alpha} : x \le c, \ \overline{V_{\alpha}}(x, y) \le L \right\}$$

Let  $\gamma(t) = (x(t), y(t))$  be the solution of (5) so that  $\gamma(t_0) = (c, y_1)$ , with  $y_0 < y_1 < 0$ . Then, there is  $t_1 > t_0$  such that

$$\gamma(t) \in M, \ t_0 \le t \le t_1$$
  
and  $\gamma(t_1) = (c, y_2), \ with \ 0 < y_2 < \frac{1}{\alpha}.$ 

**Lemma 2.6.** Assume there are  $\alpha < 0$  such that for all x < c,  $f(x) \leq 0$ . Let  $y_0 < 0$ ,  $L = \overline{V_0}(c, y_0)$  and

$$M = \left\{ (x, y) \in \mathbb{R}^2 : x \le c, \ \overline{V_0}(x, y) \le L \right\}$$

Let  $\gamma(t) = (x(t), y(t))$  be the solution of (5) so that  $\gamma(t_0) = (c, y_1)$ , with  $y_0 < y_1 < 0$ . Then, there is  $t_1 > t_0$  such that

$$\gamma(t) \in M, \ t_0 \leq t \leq t_1$$
  
and  $\gamma(t_1) = (c, y_2), \ with \ 0 < y_2 < |y_0|.$ 

**Lemma 2.7.** Assume there are b > 0 such that  $f(x) \ge 0$ ,  $x \ge 0$ . Let  $y_0 > 0$ ,  $L = \overline{V_0}(b, y_0)$  and

$$M = \left\{ (x, y) \in \mathbb{R}^2 : x \ge b, \ \overline{V_0}(x, y) \le L \right\}$$

Let  $\gamma(t) = (x(t), y(t))$  be the solution of (5) so that  $\gamma(t_0) = (b, y_1)$ , with  $0 < y_1 < y_0$ . Then, there is  $t_1 > t_0$  such that

$$\gamma(t) \in M, t_0 \leq t \leq t_1$$

and  $\gamma(t_1) = (b, y_2)$ , with  $-y_0 < y_2 < 0$ .

**Remark 2.8.** When  $a \equiv 1$ , our results are consistent with those obtained in [1], [5] and [13].

**Remark 2.9.** In the general case a(t) > 0 our results are non contradicts with the obtained in [9] and [14].

**Remark 2.10.** The results obtained in Lemmas 3-6 completes those obtained in [11], about the construction of a stability region for the equation (1).

#### 2.1 Oscillatory and Boundedness Results

We know that all solutions of (1) are continuable to the future, now consider instead the system (5) the following equivalent system to equation (1):

$$x' = y - F(x),$$

$$y' = -a(t)g(x).$$
(11)

Now we will establish various results on the oscillatory character of this system. So, we have:

**Theorem 2.11.** Under conditions a)-c) if 1)  $\int_0^{+\infty} \frac{a'(t)^-}{a(t)} dt_{j\infty}$ , and 2) there is  $N_{\dot{c}}0$  such that  $|F(x)| \leq N$  for  $x \in \mathbb{R}$ , then all solutions of the system are oscillatory if and only if:

$$\int_{t_0}^{+\infty} a(t)g\left[\pm k(t-t_0)\right]dt = \pm \infty,$$
(12)

for all k > 0 and all  $t_0 \ge 0$ .

**Proof:** Necessity: We suppose that all solution of (11) are oscillatory, but condition (12) is not satisfy for some k>0. We shall construct a non-oscillatory solution of system (5), making in (12)  $s = \pm k(t - t_0)$  we have:

$$\pm k \int_{t_0}^{+\infty} a(t)g[\pm k(t-t_0)]dt = \int_0^{\pm\infty} a(\pm \frac{s}{k} + t_0)g(s)ds,$$

thus:

$$\int_0^{\pm\infty} a(\pm \frac{s}{k} + t_0)g(s)ds = M < +\infty,$$

for some k > 0 and some  $t_0 \ge 0$ . We consider a solution of system (11), (x(t), y(t)) such that  $x(t_0) = 0$ ,  $y(t_0) = A$  with A > k + N. While that y(t) > k + N we have  $x'(t) \ge k > 0$ ; from this inequality, after integration between  $t_0$  and t we obtain  $x(t) \ge k(t - t_0)$ , then there is  $x^{-1}(s)$  such that  $x^{-1}(s) \le \frac{s}{k} + t_0$ . Consider the function  $b(t) = exp\left(-\int_0^t \frac{a'(\tau)}{a(\tau)}d\tau\right)$ , from condition 2.1 we have that  $0 < b_1 \le b(t) \le 1$  for  $0 \le t < +\infty$ , for some  $b_1$ .

Since a(t) = b(t)c(t), where  $c(t) = a(0)exp \int_0^t \frac{a'(\tau)^+}{a(\tau)} d\tau$ , we obtain:

$$M = \int_{t_0}^{+\infty} a(t)g[k(t-t_0)]dt = \int_{t_0}^{+\infty} b(t)c(t)g[k(t-t_0)]dt \ge b_1 \int_{t_0}^{+\infty} c(t)g[k(t-t_0)]dt$$

and from here:

$$\int_{t_0}^{+\infty} c(t)g[k(t-t_0)]dt \le \frac{M}{b_1} \equiv M_1.$$

From the second equation of system (11) we deduce that:

$$\frac{y'(t)}{b(t)} = -c(t)g(x(t)),$$
(13)

thus  $y'(t) \ge \frac{y'(t)}{b(t)} = c(t)g(x(t))$ , integrating (13) between  $t_0$  and t we have

$$\begin{aligned} y(t) &\geq y(t_0) - \int_{t_0}^t c(s)g(x(s))dt \geq A - \frac{1}{k} \int_{t_0}^t c(s)g(x(s))x'(s)dt = \\ &= A - \frac{1}{k} \int_0^{x(t)} c(x^{-1}(s))g(s)dt. \end{aligned}$$

Since  $x^{-1}(s) \leq \frac{s}{k} + t$  we have  $c(x^{-1}(s)) \leq c(\frac{s}{k} + t_0)$  and from here we obtain

$$y(t) \ge A - \frac{1}{k} \int_0^{x(t)} c(\frac{s}{k} + t_0)g(s)dt \ge A - \frac{M_1}{k}$$

Taking A such that  $A - \frac{M_1}{k} \ge k + N$  for  $t \ge t_0$  we have that  $x(t) \ge k(t-t_0) \to +\infty$  as  $t \to +\infty$ . This is a contradictory with the initial supposition, so we have the necessity of condition (12). The case  $x \le 0$  can be proved in a similar way.

**Sufficiency:** Let  $(\mathbf{x}(t),\mathbf{y}(t))$  be the solution of (11) leaving a point  $B(x_0, F(x_0))$ , at t = 0. Suppose that  $(\mathbf{x}(t),\mathbf{y}(t))$  does not traverse the y-axis. Then  $(\mathbf{x}(t),\mathbf{y}(t))$  stays in the region  $R_2 = \{(x,y) : x \ge 0, y < F(x)\}$  as long as the solution is defined for  $t \ge 0$ , hence x'(t) < 0 and therefore  $x(t) \le x(t_0)$ . Let  $N_1 = \max_{0 \le x \le x_0} |F(x)|$ , then the solution (x(t), y(t)) does not traverse the curve

$$V_{\alpha}(t, x(t), y(t)) = \overline{V_{\alpha}}(x_0, F(x_0)) = \frac{1}{A} \int_0^{F(x_0) + N_1} \frac{sds}{\alpha s + 1} + G(x_0)$$

as t increases. Therefore the orbit (x(t),y(t)) traverses the y-axis at  $C(0, y_C)$ . Since x'=0 and y'<0 on the curve y = F(x) in the region x > 0, F(0) = 0implies  $y_C \le 0$ . Thus the orbit traverses the negative y-axis at some finite time  $t_1$ . We choose  $x(t_1) = 0, y(t_1) = y_C$ . In the region  $R_3 = \{(x,y) : x \le 0, y < F(x)\}, x'(t) \le y_C + N$ , so we have  $x(t) \le (y_C + N)(t - t_0)$  from here  $x^{-1}(s) \ge \frac{s}{y_C+N} + t_0$  and  $\frac{y'}{b_1} \ge -c(t)g(x(t))$ . It follows then, for all  $t > t_1$ , that:

$$y(t) \ge (y_C + N) - \frac{b_1}{y_C + N} \int_{t_1}^t c(s)g(x(s))x'(s)ds,$$

and hence:

$$y(t) \ge y_C - \frac{b_1}{y_C + N} \int_0^{x(t)} c(\frac{r}{y_0} + t_0)g(r)dr.$$
(14)

Since y(t) < F(x(t)) if  $x(t) \to \pm \infty$  then from (14) we have that  $y(t) \to +\infty$ , and the orbit (x(t),y(t)) traverses the curve  $y = F(\mathbf{x})$ . Now consider the region  $R_3 = \{(x,y) : x < 0, y > F(x)\}$ , here x'(t) > 0, y'(t) > 0, the analysis of phases velocities show the existence of a point  $D(0, y_D)$  on the y-axis positive. If x(t)is bounded, i.e.,  $x(t_1) \ge x(t) \ge M$  we have that  $x(t) \to M^-$  while that y(t)is increasing. Again an analysis of phases velocities show that there is a finite time t' such that y(t') = F(x(t')). This completes the proof of theorem.

**Remark 2.12.** The simple case x'' - 2x' + x = 0, with non-oscillatory solution  $x(t) = e^t$ , shows that positivity of f is probably necessary in some sense. This is an open problem.

63

**Theorem 2.13.** Under assumptions of Lemma 1 if the following conditions: 1) a'(t)>0 for  $t \ge 0$ , 2)  $|F(x)| \le N$  for some N>0 and  $x \in \mathbb{R}$ , 3)  $G(\infty) = \infty$ , hold. Then the solutions of the equation (1) are bounded if and only if the condition (12) is fulfilled.

**Proof:** We suppose that condition (12) is fulfilled. Then all solutions of are oscillatory. In this case c(t) = a(t) for all  $t \ge t_0 \ge 0$ . We taking in account the function  $V_{\alpha}$  defined in (6) and his total derivative (7) we have that:

$$V_{\alpha}(t, x(t), y(t)) \le V_{\alpha}(t_0, x(t_0), y(t_0)).$$

From Theorem 2.7 there are  $t_2 \ge t_1 \ge t_0$  such that  $x(t_1) > 0$ ,  $x(t_2) < 0$ , and  $y(t_1) = F(x(t_1))$ ,  $y(t_2) = F(x(t_2))$ . Also we obtain, from decreasing of functions  $V_{\alpha}$ , that:

$$V_{\alpha}(t, x(t), y(t)) \le V_{\alpha}(t_1, x(t_1), y(t_1)) = G(x(t_1))$$

and consequently:

$$G(x(t)) \le G(x(t_1)).$$

From this we obtain that  $x(t) \leq x(t_1)$ . Similarly, we can obtain that  $x(t_2) \leq x(t)$ . So, putting  $M = max(-x(t_2), x(t_1))$  we have  $|x(t)| \leq M$  for  $t \geq max\{t_2, t_1\}$ . This prove the sufficiency. In the Theorem 7 we proved that if the condition is not true, there are unbounded solutions of equation (1). Thus the proof of theorem is finished.

**Lemma 2.14.** If in addition to conditions a)-c) we have that g(x) is not increasing function and  $a(t) \to +\infty$  as  $t \to +\infty$ , then condition (12) does not hold.

**Proof:** If condition (12) is not valid, then there exits k > 0 and  $t_0 \ge 0$  such that

$$\int_{t_0}^{+\infty} a(t)g[k(t-t_0)]dt = M < +\infty,$$

(the negative case is similar). From Theorem 2.7 the equation (1) have nonoscillatory solutions defined for  $t \ge t_0 \ge 0$ . We consider a solution x = x(t)with this property, without loss of generality we can suppose that there exists  $T_1 \ge t_0$  such that for some m, a(t) > m if  $t \ge T_1$  (the case x(t) < -m < 0 is analogous). It is easy follow that for m > 0 there exists  $T_2 \ge t_0$  such that:

$$k(t - t_0) > m > 0, t \ge T_2.$$
 (15)

By use of (13) and definition of g we have:

$$g[k(t-t_0)] \ge g(m) > 0, t \ge T_2.$$

Therefore we obtain:

$$a(t)g(m) \le a(t)g[k(t-t_0)), t \ge T_2.$$
 (16)

Let us consider  $T = max\{T_1, T_2\}$  after integration of (16) between T and  $+\infty$  we obtain:

$$g(m) \int_{T}^{+\infty} a(t)dt \le \int_{T}^{+\infty} a(t)g[k(t-t_0)]dt = M^* < +\infty,$$

hence

$$\int_{T}^{+\infty} a(t)dt \le \frac{M^*}{g(m)} < +\infty.$$
(17)

Since  $a(t) \to +\infty$  as  $t \to +\infty$  we have that:

$$\int_{T}^{+\infty} a(t)dt = +\infty,$$

which is a contradiction to (17). Hence the condition (12) holds. Thus the proof is now complete.

**Corollary 2.15.** Under conditions of Lemma 9 all solutions of equation (1) are oscillatory if the following conditions: a)  $\int_0^{+\infty} \frac{a'(t)^-}{a(t)} dt < +\infty$ , b) there exist N > 0 such that  $F(x) \le N$  for  $x \in \mathbb{R}$ hold.

**Proof:** It follows from Lemma 2.2, Lemma 2.1 and Theorem 2.7.

**Theorem 2.16.** Under condition Lemma 1 if the condition:  $1)\int_{0}^{+\infty} \frac{a'(t)^{-}}{a(t)} dt < +\infty,$ holds, then all solutions of equation (1) are bounded.

**Proof:** By similar arguments to sufficiency of Theorem 2.8 we obtain that there exists R > 0 such that  $|x(t)| \leq R$ .

**Corollary 2.17.** Under condition of Lemma 9 all solutions of equation (1) are bounded if the conditions: a) a'(t)>0 for all  $t \ge 0$ ,

b) there exists N > 0 such that  $F(x) \leq N$  for  $x \in \mathbb{R}$  hold.

**Proof:** The proof follows immediately applying Lemma 2.9 and Theorem 2.8.

Finally we give examples of functions f(x) which show that our results contains those in [15] and [16].

Example 1: 
$$f(x) = \begin{cases} x, & if \ |x| \le 1, \\ x^{-1}, & if \ |x| > 1. \end{cases}$$
  
Example 2:  $f(x) = \begin{cases} 1, & if \ x \ge 1, \\ x, & if \ |x| < 1, \\ -1, & if \ x \le -1. \end{cases}$ 

These examples do not satisfy the conditions of Repilado and Ruiz, but we can guarantee the boundedness of the solutions under Corollary 12.

Acknowledgements: The authors acknowledge the comments and suggestions of the referees and editor, who improved the quality of this article.

### References

- C. Li, Global asymptotic stability of generalized Liénard equation, Trends in Mathematics, 4(2) (2001), 127-131.
- [2] H.L. Guidorizzi, Oscillating and periodic solutions of Liénard equations, Proceedings 32<sup>o</sup> Seminario Brasileiro de Analise, (1991), 175-192.
- [3] H.L. Guidorizzi, On the existence of periodic solutions for the equation x''+f(x)x'+g(x)=0, Bol. Soc. Bras. Mat., 22(1) (1991), 81-92.
- [4] H.L. Guidorizzi, The family of function  $S_{\alpha,k}$  and the Liénard equation, Tamkang J. of Math., 27(1996), 37-54.
- [5] M. Han, On some properties of Liénard systems, Applied Math. and Mech., 23(4) (2002), 454-462.
- [6] T. Hara and T. Yoneyama, On the global center of generalized Liénard equation and its application to stability problems (I), *Funckcialaj Ekvacioj*, 28(1985), 171-192.
- [7] T. Hara and T. Yoneyama, On the global center of generalized Liénard equation and its application to stability problems (II), *Funckcialaj Ekvacioj*, 31(1988), 221-225.

- [8] W. Hurewicz, Lectures on Ordinary Differential Equations, Edición R, La Habana, (1966).
- [9] A. Kroopnick, Properties of solutions to a generalized Liénard equation with forcing term, *Applied Math. e-Notes*, 8(2008), 40-44.
- [10] J.E. Nápoles, On the continuability of solution of bidimensional systems, Extracta Mathematica, 11(2) (1996), 366-368.
- [11] J.E. Nápoles, L.M.L.M. Bittencurt and S.I. Noya, On some bounded and stable solutions of a non-autonomous Liénard equation, (Sumitted).
- [12] E.D. Peña, T. Hernández and A.I. Ruiz, Some conditions of oscillability of equation x"+g(x)x'+a(t)f(x)=0", *Revista Ciencias Matemáticas*, University of Havana, 18(1) (2000), 43-47 (Spanish).
- [13] P. Lequn and H. Lihong, On global asymptotic stability of the zero solution of a generalized Liénard system, Appl. Math.-JCU, 9B(1994), 359-363.
- [14] J.A. Repilado and J.E. Nápoles, Continuability, oscillating and boundedness of solutions of a bidimensional system, *Revista Ciencias Matemáticas*, 15(2-3) (1994), 167-179 (Spanish).
- [15] J.A. Repilado and A.I. Ruiz, On the behaviour of solutions of equation x"+f(x)x'+a(t)g(x)=0" (I), *Revista Ciencias Matemáticas*, University of Havana, VI(1) (1985), 65-71 (Spanish).
- [16] J.A. Repilado and A.I. Ruiz, On the behaviour of solutions of equation x"+f(x)x'+a(t)g(x)=0 (II), *Revista Ciencias Matemáticas*, University of Havana, VII(3) (1986), 35-39 (Spanish).
- [17] A.I. Ruiz, Behaviour of trajectories of nonautonomous systems of differential equations, *Ph.D. Thesis*, University of Oriente (Santiago de Cuba), (1988) (Spanish).